Exercise 25, p. 163 (Section 3.4)
> Eqnl:=diff(y(t),t$2)+2*diff(y(t),t)+6*y(t)=0;

Eqnl :=;1—[22y(t)+2 (%y(t)) +6y(1) =0
> Yl:=dsolve({Eqnl,y(0)=2,D(y)(0)=alpha},y(t));
YI=y(t) :% (+2) V5 e'sin(v35 1) +2 ¢ cos(v/35 1)
> Y2:=rhs(Y1);

Y2 = 1 (a+2) J5 elsin(V5 1) +2e  cos(VS 1)

Find alpha so that y=0 when t=1

=> Y3:=subs(t=1,Y2);
Y3Z=% (0‘+2)\/?e_lsin(\/?) +2C_ICOS(\/?)
=> Sl1l:=solve(Y3=0,alpha);
o .2 (5sin(y5) +5c0s(V5)) V5
| > sin(y/3 )

S2 = —% arctan[ 2\/? ) \/?

o+2

> S2:=so0lve(Y2=0,t);

(> limit(S2,alpha=infinity);
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